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JEE Main Physics Questions

Ques 1.

A. 4√5 / 25
B. 8√5 / 25
C. 12/25
D. 16√5 / 25

Ans. B



Ques 2.

A. ѡ/5
B. ѡ/2
C. 2ѡ/3
D. ѡ/4

Ans. C

Ques 3.

A. 0.08 H
B. 0.8 H



C. 8 H
D. 80 H

Ans. A

Ques 4.

A. 1.5 m
B. 2.0 m
C. 3.5 m
D. 2.5 m

Ans. B



Ques 5.

A. [ML-5T5]3]
B. [M-1L-5T5I3]
C. [M2L-5T5I2]
D. [MLTI]

Ans. B

Ques 6.

A. kp > ke
B. kp<ke
C. kp = ke
D. None of these



Ans. B

Ques 7.

A. 2:1
B. 1:1
C. 1:2
D. 4:1

Ans. B

Ques 8.



A. 0.5 mm
B. 1 mm
C. 0.1 mm
D. 0.2 mm

Ans. C

Ques 9.

A. tan-12
B. tan-11
C. tan-13
D. tan-14

Ans. D

Ques 10.



A. 330 Hz
B. 660 Hz
C. 165 Hz
D. 1/330 Hz

Ans. C

JEE Main Chemistry Questions

Ques 1. Molecular orbital 𝝈* represents:

A. ѱA+ ѱB

B. ѱA - ѱB

C. ѱA - 2ѱB

D. ѱA+ 2ѱB

Ans. B

Ques 2. Consider the given reaction:

Cr2O7
2- ⥨ CrO4

2-

Above reaction shifts in forward direction in

A. Acidic Medium
B. Basic Medium
C. Neutral Medium
D. Slightly acidic medium

Ans. B



Ques 3. If de- Broglie wavelength of electron is equal to de- Broglie
wavelength of proton, then what is the relation between their kinetic
energy

A. KEe > KEp

B. KEp > KEe

C. KEp = KEe
D. 2KEe = KEp

Ans. A

Ques 4. Select the correct options:

Statement 1: Benzene sulphonyl chloride reacts with 1°, 2° and
3° amines.

Statement 2: All products of the reaction above are soluble in
NaOH.

A. Statement 1 is true and statement 2 is false.
B. Statement 1 is false and statement 2 is true.
C. Statement 1 and statement 2, both are true.
D. Statement 1 and statement 2, both are false.

Ans. D

Ques 5. Consider the following compound:
What is the IUPAC nomenclature of the compound?



A. 2,5,6-trimethyl octane
B. 3,4,7-trimethyl octane
C. 2,4-ethyl, 3-methyl octane
D. Isopropyl hexane

Ans. A

Ques 6. The total number of compounds having Bond order 2 among
the following are: F2, N2, Ne2, O2, Li2, Be2, C2

Ans. 2

Ques 7. Which of the following are aromatic compounds?

A. Only (i) and (ii)
B. Only (ii) and (iii)
C. Only (i) and (iii)
D. All are aromatic

Ans. B


